



## PROBLEM:

Determine the inverse z-transforms of the following:

$$(a) \ H_a(z) = \frac{1 + 2z^{-2}}{1 - 0.25z^{-1}}.$$

$$(b) \ H_b(z) = \frac{3}{1 - 0.3z^{-1}} - \frac{2}{1 + 0.7z^{-1}}.$$

$$(c) \ H_c(z) = \frac{1 + 2z^{-1}}{1 - 0.4z^{-1} - 0.32z^{-2}}.$$



$$(a) \quad H_a(z) = \frac{1+2z^{-2}}{1-0.25z^{-1}} = \frac{1}{1-0.25z^{-1}} + \frac{2z^{-2}}{1-0.25z^{-1}}$$

$$h_a[n] = (0.25)^n u[n] + 2(0.25)^{n-2} u[n-2]$$

$$(b) \quad H_b(z) = \frac{3}{1-0.3z^{-1}} - \frac{2}{1+0.7z^{-1}}$$

$$h_b[n] = 3 \cdot (0.3)^n u[n] - 2(-0.7)^n u[n]$$

$$(c) \quad H_c(z) = \frac{1+2z^{-1}}{1-0.4z^{-1}-0.32z^{-2}} = \frac{1+2z^{-1}}{(1-0.8z^{-1})(1+0.4z^{-1})}$$

$$= \frac{7/3}{1-0.8z^{-1}} + \frac{-4/3}{1+0.4z^{-1}}$$

$$h_c[n] = \frac{7}{3} \cdot (0.8)^n u[n] - \frac{4}{3} \cdot (-0.4)^n u[n]$$

To decompose  $\frac{1+2z^{-1}}{(1-0.8z^{-1})(1+0.4z^{-1})}$  into  $\frac{7/3}{1-0.8z^{-1}} + \frac{-4/3}{1+0.4z^{-1}}$ ,

$$\text{set } \frac{1+2z^{-1}}{(1-0.8z^{-1})(1+0.4z^{-1})} = \frac{a}{1-0.8z^{-1}} + \frac{b}{1+0.4z^{-1}} \quad (*)$$

Then the right-side of (\*) is

$$\frac{a+b+(0.4a-0.8b)z^{-1}}{(1-0.8z^{-1})(1+0.4z^{-1})},$$

which should be equal to the left-side of (\*), that is

$$a+b=1 \text{ \& } 0.4a-0.8b=2 \Rightarrow a=7/3 \text{ \& } b=-4/3$$